
category:

Appr. date:

Date:

Approved by:

Status:Material:

Subject:

Sign.:

Drawing no.:

Dimension without tolerance, follows DS/ISO 2768-mK.
This drawing is the property of Carl F A/S, and is not to be copied or shown to third parties.

Latest release.:auk
2015-11-26

Stainless Steel
Satin Finish Checked inHinged Cantilever

14.7500.02.850

30/05-2003TGR

Hing Cantilever grab rail

No burs, bends or sharp edges

Use dynamometric key for screw tightening (adjust 15 Nm force on key)
Varžtų veržimui naudoti dinamometrinį raktą, nustačius 15 Nm jėgą.

170

200

17
0

20
0

A

31

1

6

9

19

16

12

2425
26

13 12

15
410

 8
50

 

22

4

17

13

11

10

21

2126

21

27

 8
50

 

2
3

A  (2 : 1)

14
5

21

28

Pos No. Part Number Description QTY.
1 D 812 Lille afstandsstykke Sanitet 2
2 D 814 Samlestang Sanitet 1
3 D 813 Stor afstandsstykke Sanitet 1
4 D 815 Mellemstang Sanitet 1
5 D 816 Gevindstang Sanitet 3
6 D 818 Bøsning til mellemstang Sanitet 2
7 D 817 Ring til mellemstang Sanitet 1
8 D 830 Ring til armstøtte Sanitet 2
9 D 831 Mellemdel til armstøtte Sanitet 1

10 D 833 Afstandsdup Sanitet 3
11 D 832 Plade til armstøtte Sanitet 2
12 D 3284 Støtteben højre Stanitet 1
13 D 3285 Støtteben venstre Stanitet 1
14 D 819 Stor afstandstadsstykke Sanitet 1
15 D 827 Skrue til støtteben DIN 7991-S A2 Sanitet 2
16 D 825 Baracket for support Grab rail 1
17 14.9701.02.097 Skrue undersænket med indv. 6kt. M6x20, DIN 7991, A2 2
18 14.9701.02.194 Skrue undersænket med indv. 6kt. M6x16, DIN 7991, A4 3
19 27.3250.25.226 Stilleskrue Sanitet 2
20 14.9701.02.195 Skrue undersænket med indv. 6kt. M8x12, DIN 7991, A4 3
21 14.9701.02.183 Skrue, DIN 7380, M4x6 A2 6
22 D 834 Arm support grab rail 1
23 D 1182 Gevindpind til mellemstang Sanitet 1
24 D 6997 Spring arm w/o notch Grab rail. 1
25 D 6998 Springs arm with notch Grab rail 1
26 D 6996 Wheel for grab rail Sanitet 1
27 D 820 Spring holder for grab rail Sanitet 1

28 14.9701.00.038 Spring washer Din 128-A4 6

29  14.9706.02.612 Screw M6x12, DIN 7991 1

30 D 5044 Spring Ø2.5xØ13.8xØLo 75, 3 mm Din 17224 EN 10271-3-1.4310 1

31 D 823 Backplate for grab rail Sanitet 1


	Sheet1
	Drawing View4
	Drawing View9
	Drawing View7
	Drawing View8
	Detail View A (2 : 1)


